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As the loudness of a sound increases, the amplitude of the sound wave increases.
As the pitch of a sound increases, the frequency of the sound wave increases.

‘The loudest sound is B and the highest-pitched sound is D.

2 Wave peaks and troughs in the same positions on x-axis and crosses mid-point at same
positions (any amplitude).

b i nothing/ quiet/ silence
i Amplitude and frequency are the same.

2 clouds of dust and gas in space
b Any two from:
Stellar nurseries are where stars are formed.

Stars give out their own light.

Ifa (dark) nebula contained a stellar nursery / formed stars, then it would not appear dark.

2 convection currents (within the mantle / the layer below the crust)
b The movement of the plates causes the earthquakes.

Earthquakes tend to happen close to plate boundaries / locations of earthquakes are
not random.
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